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Calculation of motif coefficients up to third order

Under the condition that the STDP rule is balanced, in the sense that the total depression is equal to the total
potention, we obtain the motif coefficients for the motif expansion up to third order in terms of the parameters of
the STDP and EPSP functions. The first order motif coefficients that involve α- and β-paths can be calculated
as
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where τχ = τετι
τε+τι

. The second order motif coefficients are
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where τυ = τετι
τε+2τι

. Finally, the four third order coefficients are calculated as
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